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1. Why is it important to consider frame size when fitting
lenses?

A. To ensure proper optical alignment and comfort
B. To adjust the weight of the lenses

C. To match the lenses' tint with the frame color
D. To increase the durability of the lenses

2. What is the term for eyelids in optometry and
ophthalmology?

A. A. Canthus
B. B. Orbit

C. C. Palpebra
D. D. Bulbar

3. What is the speed of light in air?
A. 186,000 miles per second
B. One meter
C. One diopter prism
D. Refraction

4. What is specific gravity defined as?
A. Defined as grams per cubic centimeter

B. Applied to the back of the lens with the ridged side out
C. Most children are born hyperopic

D. A minus lens moved further away from the eye has is
compensated with

5. How can lens thickness affect optical performance?
A. Thicker lenses may increase durability
B. Thinner lenses are always better

C. Thicker lenses may cause distortion and weight issues
D. Thicker lenses provide more UV protection
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6. What is the common name used for cellulose acetate in
eyewear?

A. A. Plexiglass

B. B. Polycarbonate
C. C. Lucite

D. D. Zyl

7. How are Fresnel prisms typically applied to lenses?
A. Defined as grams per cubic centimeter
B. Applied to the back of the lens with the ridged side out
C. Most children are born hyperopic

D. A minus lens moved further away from the eye has is
compensated with

8. What is hyperopia?
A. A. A shorter eyeball than normal
B. B. A longer eyeball than normal
C. C. An irregularly shaped cornea
D. D. Excessive tear production

9. Which type of lenses can correct an eye that requires a
different correction in different meridians?

A. the total power of the lens

B. an eye which requires a different correction in different
meridians can be corrected with cylinder lenses

C. the speed of light in air divided by the speed of light in the
material

D. a biconvex lens

10. What eye health condition is characterized by damage to
the retina due to high blood sugar levels?

A. Cataracts
B. Diabetic retinopathy

C. Age-related macular degeneration
D. Retinal detachment
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1. Why is it important to consider frame size when fitting
lenses?

A. To ensure proper optical alignment and comfort
B. To adjust the weight of the lenses

C. To match the lenses' tint with the frame color
D. To increase the durability of the lenses

Considering frame size when fitting lenses is crucial for several reasons, with one of the
primary concerns being ensuring proper optical alignment and comfort. When lenses are
positioned in a frame that fits appropriately, the optical centers of the lenses align with
the wearer's pupils. This alignment is essential because it allows for optimal visual
performance, reducing distortions and providing clearer vision. If the frame is too large
or too small, it can lead to misalignment, resulting in discomfort, eyestrain, and a
decrease in visual clarity. Additionally, an appropriately sized frame enhances the overall
comfort of the eyeglasses. A well-fitted frame will not exert undue pressure on the
wearer's nose or ears and will help maintain a secure fit, preventing the glasses from
sliding down or causing discomfort during wear. Therefore, frame size directly influences

both the functionality and comfort of the eyewear, making it a key aspect of the fitting
process.

2. What is the term for eyelids in optometry and
ophthalmology?

A. A. Canthus
B. B. Orbit

C. C. Palpebra
D. D. Bulbar

The term for eyelids in optometry and ophthalmology is known as "palpebra”. The other
options refer to different parts of the eye anatomy. The canthus (option A) is the corner
of the eye where the upper and lower eyelids meet. The orbit (option B) is the bony cavity
that contains the eyeball, muscles, nerves, and blood vessels. The bulbar (option D)
refers to the white outer layer of the eyeball. All of these options are important
structures in the eye, but they do not specifically refer to the eyelids. Therefore, the
correct term for eyelids in this context is "palpebra"” (option C).
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3. What is the speed of light in air?

A. 186,000 miles per second
B. One meter

C. One diopter prism
D. Refraction

The speed of light in air is approximately 186,000 miles per second. This value is derived
from the speed of light in a vacuum, which is roughly 299,792 kilometers per second (or
about 300,000 kilometers per second), and when light travels through air, its speed is
slightly reduced due to the refractive index of air. However, this reduction is minimal, so
for practical purposes, the speed of light is often approximated as 186,000 miles per
second when discussing its behavior in air. Other options do not relate directly to the
measurement of the speed of light. One meter is a unit of distance, not a measure of
speed. One diopter prism refers to a unit related to the bending of light, but does not
specify speed. Refraction is a phenomenon that describes how light changes direction
when moving from one medium to another, not a measurement of speed itself. Thus,

stating that the speed of light in air is 186,000 miles per second accurately captures the
scientific consensus on this topic.

4. What is specific gravity defined as?
A. Defined as grams per cubic centimeter
B. Applied to the back of the lens with the ridged side out
C. Most children are born hyperopic

D. A minus lens moved further away from the eye has is
compensated with

Specific gravity is defined as the ratio of the density of a substance to the density of a
reference substance. In the context of ophthalmic optics, specific gravity is commonly
used to determine the weight of a lens material compared to the weight of an equal
volume of water. Therefore, specific gravity is indeed defined as grams per cubic
centimeter, as stated in option A. This definition aligns with the fundamental concept of
specific gravity in the field of optics and opticianry.

5. How can lens thickness affect optical performance?
A. Thicker lenses may increase durability
B. Thinner lenses are always better
C. Thicker lenses may cause distortion and weight issues
D. Thicker lenses provide more UV protection

Understanding how lens thickness affects optical performance is important for opticians
and anyone involved in eyewear. Thicker lenses can lead to distortion, particularly at the
edges, which can compromise image quality. This distortion is often more pronounced for
higher prescriptions, where the difference in curvature between the front and back
surfaces of the lens is significant. In addition to distortion, thicker lenses tend to weigh
more, which can lead to discomfort for the wearer, especially if the glasses need to be
worn for extended periods. Heavier glasses can cause pressure on the nose and ears,
which not only affects comfort but may lead to additional issues such as headaches.
While lens thickness can offer some benefits, such as increased durability, the optical
performance can suffer as the thickness increases. Therefore, it is crucial to balance
aesthetics, comfort, and optical clarity when determining lens thickness for a
prescription.

Sample study guide. Visit https://abopractice.examzify.com for the full version



6. What is the common name used for cellulose acetate in
eyewear?

A. A. Plexiglass
B. B. Polycarbonate
C. C. Lucite

D. D. Zyl

Cellulose acetate is commonly known as Zyl in the eyewear industry. It is a popular
material used for making eyeglass frames because of its durability, flexibility, and wide
range of color options. Plexiglass is a brand name for acrylic plastic, not cellulose
acetate. Polycarbonate is another type of plastic often used for lenses, not frames. Lucite
is a brand name for acrylic resin and not associated with cellulose acetate frames.

7. How are Fresnel prisms typically applied to lenses?
A. Defined as grams per cubic centimeter
B. Applied to the back of the lens with the ridged side out
C. Most children are born hyperopic

D. A minus lens moved further away from the eye has is
compensated with

Fresnel prisms are typically applied to lenses in a certain way to achieve a specific effect.
Option A, which is defined as grams per cubic centimeter, is not a relevant explanation
for applying Fresnel prisms to lenses. Option C, which mentions hyperopia, is also not
related to the process of applying Fresnel prisms. Option D, which describes a minus lens
being moved further away from the eye, is also not relevant to the application of Fresnel
prisms. The correct answer is option B, which states that the ridged side of the prism is
placed on the back of the lens. This is because the ridged side helps to hold the prism in
place and prevent it from slipping. It also allows the prism to have a more effective and
stable effect on the light entering the eye.

8. What is hyperopia?
A. A. A shorter eveball than normal

B. B. A longer eyeball than normal
C. C. An irregularly shaped cornea
D. D. Excessive tear production

Hyperopia, commonly known as farsightedness, is a refractive error where distant objects
can be seen more clearly than objects that are near. This is because in hyperopia, the
eyeball is actually shorter than normal. This causes light rays to focus behind the retina
rather than directly on it, leading to blurred vision when looking at close objects.

Option B is incorrect because a longer eyeball is actually associated with myopia, not
hyperopia. Option C is incorrect because an irregularly shaped cornea is more commonly
associated with astigmatism, not hyperopia. Option D is incorrect because excessive tear
production is unrelated to hyperopia.
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9. Which type of lenses can correct an eye that requires a
different correction in different meridians?

A. the total power of the lens

B. an eye which requires a different correction in different
meridians can be corrected with cylinder lenses

C. the speed of light in air divided by the speed of light in the
material

D. a biconvex lens

The reason why cylinder lenses are the correct choice for addressing an eye that requires
a different correction in different meridians lies in their inherent design to manage
astigmatism. Astigmatism occurs when the eye's cornea is irregularly shaped, resulting
in light being focused at multiple points or in different directions, creating blurred
vision. Cylinder lenses are specifically designed with different curved surfaces that have
different powers: one meridian has a spherical power, while the other is more curved in
one direction. This allows for precise correction dependent on the specific orientation of
the astigmatism, which enables the lens to effectively target the varying refractive errors
across different meridians in the eye. By utilizing cylinder lenses, optometrists can
provide a tailored solution for patients whose vision issues cannot be adequately
corrected with spherical lenses alone. In contrast, options related to total power
calculations, the propagation of light, or biconvex lens types do not directly address the
need for differing corrections across meridians.

10. What eye health condition is characterized by damage to
the retina due to high blood sugar levels?

A. Cataracts
B. Diabetic retinopathy

C. Age-related macular degeneration
D. Retinal detachment

Diabetic retinopathy is the condition characterized by damage to the retina as a result of
prolonged high blood sugar levels, which is commonly associated with diabetes. Over
time, elevated blood glucose can lead to changes in the blood vessels in the retina,
causing them to leak fluid or bleed. This can impair vision and, if left untreated, may lead
to serious vision loss or blindness. The progression of diabetic retinopathy typically
occurs in stages, starting with mild nonproliferative retinopathy and potentially
advancing to more severe forms. Cataracts, age-related macular degeneration, and
retinal detachment are eye health conditions, but they are caused by different
mechanisms and do not specifically relate to high blood sugar levels. Understanding
diabetic retinopathy is crucial for managing eye health in individuals with diabetes and

highlights the importance of regular eye examinations to detect and treat the condition
early.
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